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PAOLEECOO03 - ECONOMICS : THEORY ENVIRONMENTAL ECONOMICS

Total Marks: 70
Note : Figures to the right indicate full marks of the quesitons.

Q.1 Select the correct alternative and write in your answerbook. (10)

(1) The relationship between the environment and the economy is
(a) Independent  (b) Interdependent
(c) Competitive  (c) Negative
(2) Parato optimality is a condition is which
(&) Any one person's welfare cannot be increased without decreasing the
welfare of someone else.
(b) Any one person's welfare cannot be increased without increasing the
welfare of someone else.
(c) Bothaandb
(d) Neitheranorb
(3) Total Use value and Total Non Use Value is added as
(a) Total Value (b) Marginal Value
(c) Average Value (d) Total Economic Value
(4) The relationship between environmental pollution and per capita income
was explained by

(a) Pigou (b) Daly (c) Kuznets (d) Hardin

(5) Even though groundwater is free, the cost of using it is called
(a) Marginal Cost (b) Extraction Cost
(c) Net Cost (d) Fixed Cost

(6) This method of environmental valuation is based on a hypothetical
situation
(a) Hedonic price method (b) Cost of Service method
(c) Contingent Valuation method (d) Travel Cost method

(7) These are the types of externality
(a) Three (b) Four (c) Six (d) Two

(8) The cost of organising for prevention of negative externalities is called
(a) Social cost (b) Private cost

(c) Transaction cost  (d) Transportation cost
(9) This method explains the relationship between price of property and its
surrounding environment

(a) Hedonic price method (b) Contingent Valuation method
(c) Statistical Value of Life method  (d) Travel Cost method
(10) Airis a
(a) Public good (b) Common Property Resource
(c) Open Access Resource (d) Private good



Q.2 Bring out the nature of the environment as a public good. How does this (15)
result in environmental pollution ?
OR
Q.2 What is sustainable development ? What are its various dimensions ?

Q.3 Explain the reasons for market failure and police failure in protecting the  (15)
environment.
OR
Q.3 What is "Cost of illness" approach. How can it be used for environmental
valuation ?

Q.4 What is Contingent Valuation Method ? What are its limitations ? (15)
OR
Q.4 Write a detailed note on economic value, giving appropriate examples.

Q.5 What is environmental policy ? What are its objectives ? (15)
OR
Q.5 Write a detailed note on integrated environmental and economic
accounting.
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